58 XM 2FH| AL LY

4$=1>5f=J UEEE] 5,951,230 H& W8
g5 =¥ X|E
- 2022 ZiCHE MY Z7|2F el AlH|#93,000)
20224 27T E O Yuts=8H| #309,200(-. 20224 %HEH{«: sl 'fﬁffi.* H|=HH| (#176,000)
MeE 2o -.2022'4 %7rEHii ML HE T2 H[(W40,200)
o ol w209,000]" 2022 UM E WY 2E ARS 0|FZ FRH|(W146,000 A& <->LEF)
- 2022 ZIHEHE MU B ALR = 0| S 7 XHE 20 S8 2 (W63,000 A2 <->LHF)
i PEENEEERE #1,246,027|-. CHSHEIONQIEF Lol 3| AFRZ R 211 128 ~ 221 48 O|X| 2 Y2 28 X2(128] 5 13))
0 22'd 58 ALR=% OI7iH| #3,748,000|-. CHSHEHOHQIEN i3] AFR =% 22! 58 Q17iH|
0 ZLZE 42 U NBEMZOE £48) #80,000|-. 48 MEAZ A AZ Ci3iH|
autagy| O =8t H|ZHy| ¥110,000(-. 2022\ Z ALK A2 MZ4A B o0t X &
0 ol2fH]| #137,500(-. 2022d H7|CHo| 53| MR} K| &
O AR EE 7| #8,800(-. 20224 ZRRUM A HZAA A AREE 7|
pe O M= EY =4H| #600,000(-. 5/17~19 M163] M= YOSt H SHS| Bl £t
O A =& =4 ¥110,000|-. 5/17~19 M162| MO YK SOHz| 23 YR SHH|
- 4/25 2022 Z7tCHE MU 0|7t ALR= £ WEH|(W48,200 SXt_S4k->LEF)
IEH| O AtR= £ 1&H| ¥144,900(-. 4/28 2021 FtA|OtAR S SHA CIEET = 2 AR ST WSH|(W48,200 Xt LtFE->84h
- 4/29 2022 Rt E MU 0|7t ALR = % WEH|(W48,500 EXt S4h->LEF)
- 5/10 A|EX| 2 Bt H& H|[-8(W88,000)
3383 L MM [0 2EHaZ ¥154,840(-. 5/23 7| X2 Z ALY m/E L& H|E(W63,300)
- 5/27 M163| MIAFosH A SOz P TUXE LS S (W3,540)
o9 =1 = wi20,000| /10 EtLéF’EJOH‘&'Eﬁ*%LE‘éI(%%) KIEff Y Eiad Ol%a:’F%Hl(teo,ooo AlZ<->8he)
- 5/18 CHSt RO QIEF 3| (R @) M16%] M3 TofshiM Sl 2 3 0|57 FFHI(W60,000 AlS<->2%)
N - 4/622 2021 ZtA|OtASE oA 22T SHSH 85 MY A M2 £F 0[S F]H|(W60,000 M2<->0|H)
O ARZ EF F/H| #290,000(-. 5/14 2021 7tA|OtAS & SHA CIEE T 7= 23 ART EF 0|57 FHH|(W40,000 M2 <->21H)
- 5/17~19 ®16%| AT OHsHYH S| 2B AR EF 0|57 Xt 201 FRH|(W190,000 M2<->224,70))
0224 58 ALR= X @ g0jEx #2,614,580|-. 58 MRS 40 EHEYEEYE) X LM XA
0223 58 MR= 4012 258 X #93,360|-. 5 AIR = ACHEY(RIEHUE) BEL X9
022" 58 AR u&H| X3 ¥500,000-. 58 AMR= A @(5Y) nsH| X2
22| M| 022" 58 ALR = AlChH| x| @ ¥750,000|-. 58 AHR= HA(5Y) Alchy| x|
0 22'd 58 ZZHRE|X AF »E %w200,000-. 58 AL FZHEE|RL 2l g ¢
0 17d-~21d FLN(HRARSE X AL E) ¥312,500|-. 2017'3~2021d FLUM|(BH A SE X APAE) HF
022 4th=¥ T HEE X[ & w206,840|-. CHSHE O QIEN PR3] ARS8 XY Q) Metof W2 Jjelgs & X
- 20214 = AtY ZE0| M2 03 O|Rk(AITH2TH: 140-010-120460) A ZHCHA| (w97)
O At =9 w419 - 2022\ =~ QEMN3| FIHH| 2T HAKSHH2E: 126-910008-30904) AH|ZHCH K| (#75)
- 2022'd £2H|L|0F QECHS| &IHH| YT HAL % o3 O|Rp(SHLE2E: 126-910014-76704) A ZHEH K| (w247)
= o gET 115,500 - 2022° MO E MEUM o0t 28 2, ot=25 2F
- 20229 = CHSHEONQIEF PR 2|7 AbEt7| X7 7| el 3%t 2 (W5,000,000)
(O ES= #7,000,000 - 2022 = AR BEEHE(SHLE23:126-910008-31504) 1AF 7| ZHEH Al (w1,000,000)
- 2022 Q9 2EHF (5L 3:126-910008-31504) 2XF A ZHCH | (W1,000,000)
A %7,115,919 11,945,547
53>63 O|E=AH %1,121,602




